{(1/Nevents) d I\Ich’/dr] , Ao}

Ratio to CDF

N
&

N

1.5

0.5

900 GeV ppbar

Und
A

<N_> Vs p'Tead (b, >0.5GeV, | <0.8)

m CDF
- %-- Pythia 6.424 d6

Pythia 6.424 default
---¥-- Pythia 6.424 dw
—o— Pythia 6.424 p0

t

erlying Event

— ! —
1
1
L ! .
:
L : _
1
L | a
| * |
7
— ,/ I —
|
. I p—
|
| ; _]
I
L ] _
n ;
| 0 . 1
' "
1
:
— 1 p—
| | | | | | | | | | | | | | | | | | | |
[ T T T T T | T T T T | T T T T | T T T T T |_
— ] -
— , -
— , =
— , -
— 'I' p—
— I —
— Y ]
7 1
— ,/ ] b
- ’ 1 —
!
B , _
|
I ¥ T —
- | S~ 1
:
\I 1
*
1
1

45

2IO
(P [GeV]}

Rivet 3.1.10, = 300k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


